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score = minimax (node, depth)
if (depth == 0) return (node DFTHi{&);
if node ALEFDREME
max = -o
foreach node M I RTDF./— K child
FH{fi{E = minimax(child, depth-1);
if FMEE > max A5 max = FHEE;
return max;
if node N"EFORE
min = o«
foreach node M I ANTDF./—NK child
FTfffi{E = minimax(child, depth-1);
if FMEE < min A5 min = FE@EE;
return min;
end
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#%F min score = alphabeta (node, depth, a, B)
if (depth == 0) return (node DFLE{E);
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a = max (&, alphabeta(child, depth-1, a, B);
if @ 2 B 5l break;
return o ;
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foreach node M I ANTDF./— R child
B = min (B, alphabeta(child, depth-1, &, B);
if « =z B 51 break;
return B ;
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